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DAV NCL PUBLIC SCHOOL, BLOCK - B, GORBI

Pre — Board Examination

Session 2024-25

Class - VIII Maximum Marks — 80
Subject — Science Time Allowed — 3 Hours

General Instructions:-

1. The question paper comprises five sections — A, B,C,D and E. There are 39
guestions in the sample paper . All questions are compulsory.

2. There will be no overall choice in the question paper , but there will be an
internal choice in 1 question of Section B, 1 question of Section C and 3
guestions of section D.

3. Section A — consists of 20 objective type questions ( Q. No. 1 to 20 ) carrying
1 mark each .

4. Section B —consists of 6 very short questions ( Q. No. 21- 26) , carrying 2
marks each.

5. Section C — consists of 7 short answer type questions ( Q.No. 27- 33) ,
carrying 3 marks each.

6. Section D — ( Q.No. 34-36) consists of 3 long answer type questions carrying
5 marks each.

7. Section E - ( Q.No. 37- 39) consists of 3 case study based units of
assessment of 4 marks each with sub — parts.

SECTION — A (20 x 1= 20 Marks )

1. The site of fertilization in humans is -
(a) Uterus (b) oviduct (c) vagina (d) ovary
2. Sound can propagate through —
(a) Vacuum as well as gases
(b) only through gases and liquids
(c) only through gases and solids
(d) all the three states of matter
3.0ut of the metal , gold , silver , copper and aluminium , the one that is the most
ductile is -
(a) Gold ('b) silver (c) copper ( d) aluminium
4.Dengue is a disease that can spread from one person to another through —
(a) Female Anopheles mosquito ( b) Female Aedes mosquito
(c) Rat flea (d) Virus
5.Aray of light passing from one medium to another does not bend from its path if —
(a) It's angle of incidence is not equal to zero .

('b) Itis incident obliquely to the surface .



( ¢) Both the media have different optical densities.
(d) Itis incident normal to the surface
6. The correct option among the following is :
(@) Amount of fuel = calorific value / total heat
( b) Total heat produced = amount of fuel x calorific value
( ¢) Calorific value = 1/ total heat x amount of fuel
( d) Calorific value = ignition temperature x amount of fuel
7. A small bulb is placed at the focus of a converging lens, when the bulb is switched
on the lens produces :
(a) aconverging beam of light
(b) a diverging beam of light
(c) a parallel beam of light
(d) a beam of three different colours
8. When a non metal reacts with oxygen, the resulting oxide is —
(a) acidic  ( b) basic ( ¢) neutral (d) turns blue litmus red
9. The hormone which controls the body’s response to stress is -
(&) Thyroxine  ( b) adrenaline ( c) testosterone ( d) estrogen
10. The onset of menstruation in human female is known as —
(a) Menopause ( b) menarche ( ¢) puberty (d) adolescence
11.The human male have the following pair of chromosomes -
(a) XX (b) XY (c)XO (d) XYz
12.The defect of the human eye ,in which the eye lens of the person gets
progressively cloudy , resulting in blurred vision is called —
(a) Myopia.  ( b) Hypermetropia (¢ ) cataract. ( d) Night blindness
13.Larynx is also known as —
(a) Autosomes.  (b) Voice box  (c) thyroxine (d) hormones
14. The audible frequency range to human ear is —
(a) Less than 20 Hertz
(b) 20 hertz to 20,000 hertz
(c) More than 20,000 hertz
(d) All of the above
15. Gravitational force is a type of —
(a) Contact force
(b) Non — contact force
(c) Frictional force
(d) Electrostatic force
16. Which cell organelle performs the function ofpackaging of materials ?
(a) Endoplasmic reticulum
(b) Plastids



(c) Mitochondria

(d) Golgi bodies
Note :questions 17 — 20 are Assertion and Reasoning type questions. Select the
correct answer to these questions from the codes (a) , (b), (c) and (d) as given
below :

(a) Both Aand R are true and R is the correct explanation of Assertion

(b) Both Aand R are true and R is not the correct explanation of Assertion.

(c) Ais true but R is false .

(d)Ais false but R is true .
17.Assertion ( A): Plastic bucket is non biodegradable.
Reason ( R) : It does not decompose through natural processes and take a very
long time to degrade .
18.Assertion (A) : Afrequency of one hertz means one oscillation per minute .
Reason (R) : Sound of frequency one hertz cannot be heard by human ears .
19.Assertion (A) : Synthetic fibres are not advisable to wear while working in
kitchen .
Reason ( R) : Synthetic fibres have high melting point and form sticky beads .
20.Assertion ( A) : During the electrolysis of water , distilled water is used .

Reason ( R) : Distilled water does not conduct electricity.
SECTION - B (6 x 2= 12 Marks )

21. State the unique feature of viruses .
OR

State two functions of cell wall in plant cell

22. The term metamorphosis is not used while describing human development. Give
reason .
23. Differentiate between the two types of endoplasmic reticulum on the basis of
their
(@) Appearance ( b) function
24 .Arrange the following in correct sequence of stages of their development:
Infant , embryo, zygote and foetus.
25.Write the advantage of stainless steel over iron .
26.Write any four methods of food preservation .
SECTION - C (7 x 3= 21 Marks)

27.( a) Name the part of human eye —

(i) that is responsible for characteristic colour of eye of a person
(i1) gets self adjusted in size in different light conditions.
(b) Where is ‘ blind spot’ of the eye is located ?
28. The phrase ‘ Just Say No’ is a part of * Say No To Drugs ’ campaign.



Comment on the aim of this campaign . ( State two points )
29. (a) Give two reasons why it is desirable that a fuel should undergo complete
and controllable combustion
(b) State the parameter that rates the efficiency of a fuel .
30. Differentiate between contact and non- contact force. Also give examples of
each case.
31.Give reasons :
(a) Oiling of the axles of a bicycle makes the bicycle move easily.
(b) Spikes are provided in the soles of shoes worn by players and athletes .
(c) Birds and fishes have streamlined shape .
32.( a) What happens when a strip of copper is placed in silver nitrate solution ? Give
any one observation.
(b) Which of the following reactions (i or ii) will not occur and why not ?
(i) Zinc sulphate + copper > Copper sulphate + zinc
(ii) Copper sulphate + iron —>iron sulphate + copper
33. An empty paper cup catches fire immediately whereas a paper cup filled with
water does not catch fire easily . Why ?
OR

Differentiate between Myopia and hypermetropia . ( State three points )

SECTION =D (3% 5 = 15 Marks )

34. (a) Describe in detail the following changes that occur during puberty :

(i) Change in voice
(i) Activity of sebaceous glands
(b) Explain, how the sex of the child gets determined when the ovum gets
fertilized with the sperm .
OR
Draw a diagram of a human female reproductive system showing the parts
responsible for :
(a) Production of an egg
(b) Fertilization to occur
(c) Development of an embryo
35. (a) “Plastic is harmful for environment ”. State two points in support of this
statement.
(b) List two measures to control damage caused by plastic waste
(c) Differentiate between bakelite and melamine on the basis of :
(i) arrangement of monomers in them
(i) effect of heat on them
OR



(a) List different varieties of coal along with its percentage of carbon content in
them
(b) State the meaning of ‘petra’ and ‘oleum’ in the word petroleum.
36. (a) State any two ill effects of noise pollution on human health .
(b) How do people with hearing impairment communicate with each other ?
(c) Define the terms :
() Infrasonic sounds
(if) Ultrasonic sounds
OR
(a) Which phenomenon of light is responsible for the formation of rainbow ?
(b) When do we see a rainbow ?
(c) Name the band of seven colours observed in the rainbow.
SECTION - E (3x 4= 12 Marks )

37. Kiran went to attend the birthday party of her friend during summer vacation,

where she had momos, pizza and pasta. After sometime she started vomiting ,
had nausea , dehydration and abdominal pain . She was given water and ORS
by her friend and was advised to take rest . Later on, it was found that food in
the party was not preserved and handled properly due to which Kiran got sick .
(Any four to be attempted)
(a) Suggest a disease due to which Kiran got sick .
(b) Write any two symptoms of this disease.
(c) State the reason for giving ORS and water to Kiran by her friend .
(d) “Food preservation is important in our daily life”. Give reason .
(e) Milk is heated to about 70 degree Celsius for 15 to 30 seconds and chilled
suddenly. This milk can be used directly. Identify this process.
38.Ajay went to visit his friend’s house. His friend had lost weight , was feeling weak
and coughing . He spent the night there. After a few days he started showing the
same symptoms as his friend . Ajay visited the doctor . The doctor diagnosed that
he was suffering from a disease caused by bacteria. The doctor prescribed him
some medicines without skipping any dose and take a complete rest. ( Any four
to be attempted)
(a) Name the disease Ajay is suffering from.
(b) Is this disease communicable or non- communicable? Give reason for your
answer .
(c) Give one preventive measure for this disease.
(d) Mention the mode of transmission for this disease .
(e) State the type of medicine prescribed by a doctor to Ajay.



39. Rohan was asked to perform a series of experiments to study the flame of candle
under the supervision of his teacher . He noticed that the candle flame has
different colours and it’s different regions show different characteristics. He was
very inquisitive and asked the teacher about that reason behind his observations

Teacher explained that flame’s colour depends on two things : the temperature of

the flame and the material being burnt . She asked him to perform specific

activities to verify the same as follows . ( Any four to be attempted)

(a) He put a thin and long copper wire across yellow and blue zone of the candle
one by one for some duration of time . In which zone the wire would become
more hot and why ?

(b) Now , he inserted a thin glass tube in the dark zone of the non flickering flame
and brought a lighted matchstick near the other end of the glass tube . What
do you think he must have observed ?

(c) Name any two products formed after combustion in the blue coloured zone .

(d) His teacher gave him kerosene and mustard oil in two different watch
glasses and asked him to bring the burning candle near those materials one
by one. Which material will catch fire instantly and why ?

(e) Which zone of the candle flame contains unburnt carbon particles .
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DAV NCL PUBLIC SCHOOL BLOCK-B, AREA GORBI
MOST IMPORTANT QUESTION: PART-1(5 MARKYS)

1. The cost of square leveling a square lawn at Rs 16 per square meter is Rs 28244 find the cost
of facing the lawn at Rs 25 per meters?

2. Find the square root of 5 correct to 3 decimal places and hence evaluate %

3. The area of a square field is Rs 1156 m?. A rectangle field whose breadth is one third of its

length, has its perimeter equal to the perimeter of the square field. Find the area of the rectangle

field?

4. find the greatest of 6-digit numbers, which is perfect square. Also find the square root of

number of that number?

5. If the difference between compound interest and the simple interest on a certain sum at 10%

per annum for three years is Rs 186. Find the sum?

6. The difference between the C.I. and S.I. on certain sum compounded annually at 10% per

annum for 2year is Rs 631. Find the sum?

7. The difference between the C.I. and S.I. on certain sum compounded annually at 8% per

annum for 2year is Rs128. Find the sum?

8. Divide [3x(5x2 + 3x3 + 2) — (2x? + 8 — x)] by (—2 + 3x) and check your answer.

9. Divide 6x(2x3 + x? + x + 1) — x(8x? + 5x + 2) + 5 by (1 + 3x) and check your answer?

10. What must be subtracted from 8x3 + 6x2 — 31x + 47 so that resulting polynomial is

exactly divisible by 2x — 57 verify your result.

11. Construct a quadrilateral PQRS in which PQ=5cm, QR=4cm, RS=4.5cm, < Q = 90° and

<R =135°

12. Construct a quadrilateral PQRS in which PQ= 5cm, QR=4cm, < p = 75°,< q = 105° and
< R = 75°. What type of quadrilateral is it?

13. A wall 15m long, 30cm wide and 4 m high is made of bricks, each measuring 18 cm X

12.5cm x 7.5cm. if (1—10)thof the total volume of the wall consists of mortar, how many bricks
are there in the wall?
14. The external dimensions of a closed wooden box are 48cm x 36¢cm X 30cm. the box is made
up of 1.5cm thick wood. How many bricks of size 6cm x 3cm X .75cm can be put in this box?
PARTS-2 (3 MARKYS)
15. Marks the obtained by 30 students of grade VIII are given below.
61, 48, 84, 63, 61, 48, 45, 76, 48, 84, 63, 58, 55, 48, 84, 63, 45, 55, 58, 83, 49, 69, 58, 52, 57,
63, 34, 38, 89, 44
Prepare a frequency distribution table of equal class size using class interval 30-40, 40-50 and so
on. Also find the class marks corresponding to maximum frequency.

16. A bank gives 10% simple interest (S.I) on deposits by senior citizens.



DEPOSITE(in Rs) 100 250 300 500

Annual S.1. (in Rs) 10 25 30 50

Using the data given above, draw line graph illustrating the relation between the sum deposited
and simple interest earned.

17. For a square, we have perimeter = 4x side of square. Consider the relation between perimeter
and side of the square, given by P = 4a.

18. A camp, there was a food provision for 120 men for 200 days. At the end of 5 days, 30 men
were transferred to another camp. How long will the remaining food last for remaining people?
19. A hostel had food provision for 60 days for 500 students. After 12 days, 300 more students
joined the hotel. How long will the remaining food last?

20. A train 270m long is running at 80km/hr. it crosses a tunnel in 18 seconds. Find the length of
the tunnel.

21. A contractor with a workforce of 420 men can complete the work of construction of building
in 9 months. He was asked to the complete work in seven months. How many extra men he must
employee to complete job.

22. Find the least number by which 8788 must be divided so that the quotient is a perfect cube.
Also find the cube root of the number so obtained?

23. Find the least number by which 1372 must be multiplied, so that the product is perfect cube.
Also find the cubes root of the product so obtained?

-1 1
37%x216 3 x252
24. Evaluate; ——————

1253 X 164><3 6

25. / 3/ 8x 3/ 27X _ 1 find the value of x.
729 729 5832

26. If 2¥~1 4 2x%*+1 = 320, then find the value of x.
27. The area of a trapezium is 405 cm?. Its parallel sides are in the ratio 4:5 and distance between
them is 18 cm. Find the length of each of the parallel sides.
28. The perimeter of parallelogram is 160 cm. one of its sides greater than the other by 30 cm.
find the length of sides of the parallelogram.
29. The road roller takes 750 complete revolution to level a road. Find the area of road if the
diameter of the roller is 84 cm and length is 1 m. also find the cost of leveling the road at the
rate of 100 per sq m.
30. 60 circular plate, each of radius 14cm and thickness 1.5 cm are placed one above the other to
form a solid. Find the total surface area of the solids formed?

PART-3( 2 MARKS)

31. Ifa? + a—lz = 18, find the value of a —%

32. Evaluate (10.1)? using a suitable identity?

33.1f (81)™* = (729)?™* = 9** find the value of x.

34. factories: 4x% + 9y? + z% — 12xy — 6yz + 4xz

35. ABCD is a rectangle. If the length of diagonal AC= 2(3Z — 23)cm and diagonal BD=
(64 — 4z)cm, find the value of z. hence find AC.




36. simplify: (a? — b?)(a? + b?) — (a? — b?)?

37. the given pie chart depicts the modes of transport used by the students to commute to school
from their residence. If the total numbers of students are 3600, find

1) the number of student who commute by bicycle.

i) the angle of the sector that represents students who commutes by school bus.

Figl fig2

38. Find the co-ordinate of the points A, B and C. find the co-ordinate of fourth point D such
ABCD becomes a rectangle. Fig2
39. In the given figure I//m//n and p is a transversal. If < 1 = 130° find a: b.

CASE STUDY: (Each C.S 4 marks)

1. Anika and Babita went to the fair with some money to purchase some toys for their siblings.
They both together had 30 notes of denominations 10 and 20. Anika has x notes of 20. The
number of 10 notes is three times the number of 20 notes. In all she has *200. Babita has y
notes of 20. The number of 10 notes is 5/2 times the number of 720 notes. In all she has 180.
Using the above information answer the following:

i) Form a linear equation to find the value of x.

ii) Form a linear equation to find the value of y.

iii) What is the total number of notes that Anika has?

iv) What is the total number of notes that Babita has?

2. Anuja was asked to collect all her marbles and keep them safely in a box. Unfortunately, she
did not have a box. She looked around and saw that there was a waste cardboard rectangular
sheet of sides 20 cm by 10 cm. She decided to make an open cuboidal box from this sheet by



cutting off four equal squares of length 1 cm from each of the four corners and turning up the
sides
Based on the above given information answer the following questions
1) What is the height of the box formed?
i) What is the length and the breadth of the box formed?
iii) If the box is to be painted from inside what is the area to be painted?
iv) What is the volume of the box formed?
3. Many kinds of traditional paddled long boats of Kerala. During one such race a boat goes
downstream and covers a distance of 4 hours while it covers the same distance upstream in 5
hours. If the speed of the stream is 3 km/hr, then based on the above information, answer the
following questions:

i) By taking speed of boat x km/hr, find the speed of boat going downstream and upstream.
i) Write an algebraic expression that can be used to find distance travelled while going
downstream
iii) Find the speed of the boat in still water.

iv) Find the total distance covered in the whole journey.

4.
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Akshara is very fond of gardening. She placed two metallic pipes in her garden (open on both
sides) one cylindrical and another cuboidal. She got 10-10 circular pieces taken out from each
pipe so that she can put saplings in them.

The dimensions are as follows:

Cylindrical pipe: Length = 200 cm, Diameter= 42 cm

Cuboidal pipe: Length =200 cm x 42 cm X 42 cm

Circular piece: Radius =3.5cm

Based on above information answer the following:

i) Find the area of the metallic sheet taken out from each pipe to make holes.
ii) Find the volume of the sand filled in cuboidal pipe.

iii) Find the surface area of cuboidal pipe after the circular pieces have been taken out.
iv) Find the surface area of cylindrical pipe after the circular pieces have been taken out.




5. Arun and Neena went to their grandmother place specially to visit this mela. Each day both
need to purchase the entry ticket of * 20 each. Their expenditure on rides on the three days is
given in the table below.

NUMBER OF RIDES | NEENA ARUN
DAY 1 4 5
DAY 2 6 6
DAY 3 5 5

Based on the above information, answer the following questions:
1) Taking cost of Neena’s ride to be as * x per side, find the mathematical expression representing
Neena’s expenditure on Day 1
i) If the ratio of Neena’s expenditure on day 1 to that of day 2, is 11 : 16, find the cost of
Neena’s ride.
IV) The cost of Arun’s ride is % times Neena’s ride. Together they spent * 615 on day 1. Find the cost of
Arun’s ride.
iii) Find the total expenditure of Neena and Arun on the rides on day 3, if all ride cost ~ 50 on

that day.
6.

Nidhi designed a necklace made of pearls and metal pieces, trapezoid in shape. One such piece

is shown below
a b

g c piece 1 piece 2

S

Nidhi wants to join two pieces together to form an earing as shown below

i) Justify that the shape obtained is a parallelogram.

ii) Establish a relationship among a, b and c if she wants to form a rhombus shaped earning
iii) In the given figure, if £1 = 40° and 23 = 242, then, find the measure of 24




iv) Ifa: b=2: 3, c = 10mm and perimeter of the trapezium is 40 mm,find the values of a and b.
7. Dev and Manu are hosting a healthy Burger Party for their respective friends. They went to a
Burger shop. The shopkeeper told them that the cost of each wheat burger is 100 but they can get
1 burger free on purchase of every 4 such burgers.Dev needs 12 burgers and Manu needs 23
burgers.

1) How much amount did Dev pay to the shopkeeper?

i) How much amount did Manu pay to the shopkeeper?

iii) If they shop together, how much money they have to pay? Find the percentage of discount
they got in the deal

iv) If each burger cost 60 to the shopkeeper, find the profit percent earned by him when Dev and

Manu bought the burgers separately.

8. Mr Gupta conducts a party for his son's 12th birthday. Being a nature lover for the sake of our
mother Earth he decided to give return gifts as plants to his son's friends. For this he went to two
different shops and observed that the marked price of the plants he wants to purchase was the
same i.e. 600 per plant, but the offer was different in the both the shops.

i) Find the amount Mr. Gupta will pay for each plant from shop A

i) How much will he pay for two plants if purchasing is done from shop B.

iii) After giving a discount of 12%, the shopkeeper A still makes a profit of 32%. Find the cost
price of one plant for shopkeeper A.

iv) Mr. Gupta bargains at shop A that if he buys 15 such plants, his discount will increase by 3%.
How much will he pay for 15 such plants.

SHOAP A SHOAP B

Discount of 12% | On the purchase of every 2 plants get a discount of Rs 100
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SAMPLE PAPER, Session: 2024-25
Class: VIII Subject: Mathematics
Maximum Marks: 80 Time Allowed: 3 Hrs.

General Instructions:
1. This Question Paper consists of five sections:

e Section | : Question NO. 1 to 20 are of 1 mark each (18 are MCQ Type and 2 are Assertion-

Reasoning type questions).

Section Il: Question No. 21 to 25 are Short Answer Type -1 questions of 2 marks each.

Section I11: Question No. 26 to 31 are Short Answer Type -2 questions of 3 marks each.

Section 1V: Question No. 32 to 35 are Long Answer Type questions of 5 marks each.

Section V: Question No. 36 to 38 are Case Based questions. Each case study has 3 case based sub

parts , two are of 1 marks each and third sub part is a short answer type (2 marks) having internal

choice.

2. Please write the serial number of the question before attempting it.

3. In questions of constructions/graph, the drawing should be neat, clean and exactly as per given
measurements. Use ruler and compass only.

4. All questions are compulsory. However internal choices have been given in some questions.

SECTION: |
1. By what is least number should 1500 be multiplied so that the product is perfect square?
a)3 b) 5 c) 10 d) 15
2. The value of 1/3/216 x /64 x /729 is.
a) -6 b) 6 c) 12 d) 24
3. The value of (132 — 52)§
a) 8 b) 64 c) 12 d) 144
4. The ratio of cost price to selling price is 5:4. The loss % is
a) 10% b) 20% c) 25% d) 30%
5.if (x + ¥)? = 64 and x* + y? = 16 then the value of xy is:
a) 48 b) 24 c) 12 d)6
6. Thevalueof x +y)(x—y)+ (v —2)(y+2) + (z—x)(z+x) is:
Ax+y+z b) 0 C) 2x% + 2y% + 222 d) xy+yz+zx

7. In the given figure, AB || CD and | is a transversal. EG is the bisector of 2AEF, then the value of X is



= 5
a) 20° b) 30° c) 10° d)
50°
8. In the given figure, AB//CD. The value of x + y is.
Lk P R B
2 >
a) 180° b) 230° c) 140° d)
80°
9. In the given figure, ABCD is parallelogram. The value of x is
4(x+5)ecm
D C
60 ecm
60 cm
A (6x + 5) em B
a) 10 b) 15 c)5 d) 20
10. The graph of y=a is
a) the x-axis b) the y-axis
¢) a line parallel to y-axis d) aline parallel to x-axis

11. Cards are numbered as 1,2,3,4,5,6,7,8 respectively. They are kept in a box and mixed thoroughly .One
card is chosen at random .The probability of getting a multiple of 3 is-
a) = b) 2 0) 2 d) 2
)5 ) 5 ) 5 ) 5
12. A card is drawn at random from a pack of 52 cards. Find the probability that the drawn card is not an
ace.

1 4 12 12



13. If the capacity of a cylindrical tank is 1848 cm3 and the diameter of its base is 14 m, the depth of the
tank is

a) 8m b) 12m c) 16m d) 18m
14. If the class mark of a class interval is 12.5 and the class size is 8, then the uppr limit of the class
interval is

a) 20.5 b) 16.5 c) 15 d) 18.5
15. Avi bought a tape recorder for = 8000 and sold it to Bobby. Bobby in turn sold it to Charu, each
earning a profit of 20%. Which of the following is true?

a) Avi and Bobby earn the same profit. b) Avi earns more profit than Bobby
c) Avi earns less profit than Bobby. d) Cannot be decided
16. The abscissa of a point is its distance from the
a) origin b) x-axis C) y-axis d) point (x, y)
17. <A and <B are two adjacent angle of parallelogram. If <A=65°, then <B is
a) 65° b) 25° c) 125° d) 115°

18. The number of coins each of radius 0.75 cm and thickness 0.2 cm, to be melted to make a right
circular cylinder of height 8 cm and base radius 3 cm is

a) 460 b) 500 c) 600 d) 640
Direction: In question numbers 19 and 20, a statement of Assertion if followed by a statement of

Reason. Choose the correct option of the following:
A). Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion
(A).
B). Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion
(A).
C). Assertion (A) is true but Reason (R) is false.
D). Assertion (A) is false but Reason (R) is true.
19. Assertion: The product of (a+1) (a-1)(a? + 1) by (a* + 1)
Reason: (a? — b?=(a + b)(a — b)

3 4
20. Assertion:((l) ) = 312
3
Reason: a™x a" = aMmm
SECTION-II
21. Ifa% + % = 18, find the value of a —%

Or
Evaluate (10.1)? using a suitable identity?
22.1f (81)™* = (729)?2™* = 9** find the value of x.
Or
factories: 4x2 + 9y? + z2 — 12xy — 6yz + 4xz
23. the given pie chart depicts the modes of transport used by the students to commute to school from
their residence. If the total numbers of students are 3600, find (fig-1)
i) the number of student who commute by bicycle.
ii) the angle of the sector that represents students who commutes by school bus.
24. Find the co-ordinate of the points A, B and C. find the co-ordinate of fourth point D such ABCD
becomes a rectangle. (Fig2)



Fig-1 fig-2
25. In the given figure I//m//n and p is a transversal. If < 1 = 130° find a: b.

SECTION-II

26. A hostel had food provision for 60 days for 500 students. After 12 days, 300 more students joined the
hotel. How long will the remaining food last?
Or
In a camp, there was a food provision for 120 men for 200 days. At the end of 10 days, 40 men were
transferred to another camp. How long will the remaining food last for remaining people

-1 1

374x216 3 X252

27. Evaluate;: ————
1253 X 164x3~6

Or
3| x 3| 8x 3] 27x -
,ﬁ+ ’ﬁ"’ /5332 = 1, find the value of x.

28. Find the least number by which 8788 must be divided so that the quotient is a perfect cube. Also find
the cube root of the number so obtained?
29. The road roller takes 750 complete revolution to level a road. Find the area of road if the diameter of
the roller is 84 cm and length is 1 m. also find the cost of leveling the road at the rate of 100 per sq m.
30. Marks the obtained by 30 students of grade VIII are given below.

61, 48, 84, 63, 61, 48, 45, 76, 48, 84, 63, 58, 55, 48, 84, 63, 45, 55, 58, 83, 49, 69, 58, 52, 57,

63, 34, 38, 89, 44
Prepare a frequency distribution table of equal class size using class interval 30-40, 40-50 and so on. Also
find the class marks corresponding to maximum frequency.
31. A bank gives 10% simple interest (S.1) on deposits by senior citizens.




DEPOSITE(in Rs) 100 250 300 500

Annual S.1. (in Rs) 10 25 30 50

Using the data given above, draw line graph illustrating the relation between the sum deposited and
simple interest earned.
SECTION: IV
32. The cost of square leveling a square lawn at Rs 16 per square meter is Rs 28244 find the cost of facing
the lawn at Rs 25 per meters?
OR

343

Find the square root of 7 correct to 3 decimal places and hence evaluate >

33. What must be subtracted from 8x3 + 6x? — 31x + 47 so that resulting polynomial is exactly
divisible by 2x — 57 verify your result.
34. If the difference between compound interest and the simple interest on a certain sum at 10% per
annum for three years is Rs 186. Find the sum?

Or

The difference between the C.I. and S.I. on certain sum compounded annually at 8% per annum for

2year is Rs128. Find the sum?
35. Construct a quadrilateral PQRS in which PQ=5cm, QR=4cm, RS=4.5cm, < Q = 90°and <R =
135°

Or
The external dimensions of a closed wooden box are 48cm x 36¢m X 30cm. the box is made up of 1.5cm
thick wood. How many bricks of size 6¢cm x 3cm X .75¢m can be put in this box?

SECTION: V (Case study)

36. Anika and Babita went to the fair with some money to purchase some toys for their siblings. They
both together had 30 notes of denominations 10 and 20. Anika has x notes of 20. The number of 10
notes is three times the number of 20 notes. In all she has 200. Babita has y notes of 20. The number of
10 notes is 5/2 times the number of 720 notes. In all she has 180. Using the above information answer the
following:
i) Form a linear equation to find the value of x.
ii) Form a linear equation to find the value of y.
iii) What is the total number of notes that Anika has?

Or
iv) What is the total number of notes that Babita has?

37. Many kinds of traditional paddled long boats of Kerala. During one such race a boat goes downstream
and covers a distance of 4 hours while it covers the same distance upstream in 5 hours. If the speed of the
stream is 3 km/hr, then based on the above information, answer the following questions:

i) By taking speed of boat x km/hr, find the speed of boat going downstream and upstream.

il) Write an algebraic expression that can be used to find distance travelled while going downstream

iii) Find the speed of the boat in still water.

iv) Find the total distance covered in the whole journey

38.
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Akshara is very fond of gardening. She placed two metallic pipes in her garden (open on both sides) one
cylindrical and another cuboidal. She got 10-10 circular pieces taken out from each pipe so that she can
put saplings in them.

The dimensions are as follows:

Cylindrical pipe: Length =200 cm, Diameter=42 cm

Cuboidal pipe: Length =200 cm x 42 cm x 42 cm

Circular piece: Radius=3.5cm

Based on above information answer the following:

i) Find the area of the metallic sheet taken out from each pipe to make holes.
ii) Find the volume of the sand filled in cuboidal pipe.

iii) Find the surface area of cuboidal pipe after the circular pieces have been taken out.
Or

iv) Find the surface area of cylindrical pipe after the circular pieces have been taken out.
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DAV NCL PUBLIC SCHOOL, MP ZONE -D
Preboard 2 —, Session 2025-26

Class — VIl M.M.: 80
Subject — English Time: 2 Hr.

General Instructions: -

1. This question paper consists of three sections.

2. Attempt all questions.

3. Read each questions carefully and follow the instructions.

Section — A (READING — 20 MARKYS)
1. Read the following passage carefully. (8)

While most track and field events largely culminate into feats that need bursts of energy to
perform, race walking stands out as a sport that prioritises precision and discipline.
Race walking is believed to have originated in the Victorian era (1837-1901) when noblemen used to
bet on their footmen -- who walked alongside their employer’s horse-driven coaches -- for a winner.
It came to be known as pedestrianism and made its way to the United States in the late 19th century.
It caught on as a spectacle sport, with participants walking nearly 1,000 kms in six days inside
packed indoor arenas. The name of the sport itself defines the objective where participants swiftly
walk their way to the finish line. However, it is bound by strict rules pertaining to its technique.
Race walking differs from running, where an athlete often has both feet off the ground during their
strides in a sprint. In race walking, however, athletes must always have one foot in contact with the
ground at all times, as visible to the human eye. Furthermore, the athlete’s knee of their advanced leg
must not bend and the leg must straighten as the body passes over it. Each race walker is judged
carefully and can be penalised if he bends his knee during the race. Judges ranging from five to nine,
depending on the category of the event, inspect the race with their naked eyes. They carry paddles
with symbols for ‘loss of contact’ (~) and ‘bent knee’ (<). If a race walker is shown three warnings
(paddles) from different judges, including the chief judge, it leads to disqualification of the athlete. A
red paddle is shown to the disqualified athlete. The standard distances for race walking events are
3000m, 5000m in indoor tournaments while 5000m, 10,000m, 20,000m, and 50,000m races are held
on outdoor tracks. The 10km, 20km and 50km events, labelled separately, are held on metalled
roads.
1.1  Onthe basis of your understanding of the above passage, answer the following questions:

a) Race walking stands out as a sport than other field events. Why?

b) Mention the origin of Race walking?

c) Race walking differs from running. How?

d) What can be the reason for the penalization of a race walker?

e) What are the two symbols carried by the judges?

f) Find the word in Para-1 which means the same as ‘a visually striking performance’.

g)A paddle is shown to the disqualified athelets.
h) The standard distance for race walking events are 3000m, 5000m in outdoor tournaments.
(True/False).
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Read the passage given Dbelow and answer the questions that follow:
1. Music is perhaps the most popular and widely practised form of Fine Arts, transcending all
kinds of cultural and linguistic barriers. Any form of fine art is difficult to master and almost
impossible to perfect and music is no exception.

2. Nature, it is learnt, has blessed almost two- thirds of the human race with musical ability of
some sort. Music has the power to bring out the deepest emotions. It can make one cry or
bring a smile on one’s face. In fact it is a magic medicine and many seek refuge in it when
they are depressed or stressed. It is this intimacy that makes us listen to music or even hum or
sing sometimes. This singing, or realistically speaking, expressing one’s emotion musically
sometimes takes a serious turn. This desire to show musical expression in public then
becomes a serious business profession. And from here the musical journey begins.

3. This desire to sing before an audience is innocent and beautiful and indeed it is perfectly
alright to have such a genuine desire. But it is also important to understand that, singing is an
intricate art — a highly refined one at that, which requires systematic, prolonged and strict
training, to be acceptable. This is an aspect we forget in our keen desire to reach the stage
and perform. It is almost like preparing a formal meal for some specially invited guests,
without even having learnt and trained in the basics of cooking. This is why we have more
noise and less music nowadays.

4. 1t is observed that those who have attained the so called partial success, suddenly feel that
they lack the required knowledge and are not learned enough. But it is too late by then. It
should be understood here that the stage or a performance brings in a different mindset
within the artist. It is always recommended and rightly said, that while on stage, cover the
mistakes and weaknesses if any, and get along. But the contrary is true when it comes to
acquiring knowledge and during the learning process. While under training, the student is
expected to make mistakes but then rectify those mistakes under the supervision and
guidance of the teacher. Therefore, it is good to make mistakes and then be corrected during
the process of learning as this subsequently makes one flawless and educated. This is a
different mindset. And these two mindsets discussed above, (those of a performer and that of
a student) cannot co-exist.

On the basis of your understanding of the passage, attempt any 12 out 13 questions given
below: 1x12=12
a). How can we say that music is magic?

b) Singing is considered as an intricate art. Why?

c¢) How do people get transformed from humming tunes to becoming professional musicians?
d) What is expected from a stage performer?

e) What should students learn to do while under training?

f) The word in Para-2 which means ‘the state of being safe or sheltered’ is

g) The synonym of ‘exceeding’ in Para-1 is.

i) limiting ii) crossing iii) transcending iv) believing

-Read the following statements and choose the correct options for the following questions
based on Assertion A and Reason R.

i) Both A and R are true and R is the correct explanation of A.

ii) Both A and R are true and R is not correct explanation of A.

iii) A is true but R is false.

iv) Ais false but R is true.

Cont...3



Cont...3

h) A-Music has the power to bring out the deepest emotions.
R-Expressing one’s emotions musically, sometimes takes a serious turn and ignites in me
the desire to showcase musical expression in public domain.
i) A-Making mistakes and then correcting them, during the training is a good thing.
R-Guidance and correction during learning, subsequently makes one flawless and educated
j) Music is perhaps one of the widely practiced forms of Fine Arts, going beyond all kinds of:
1) Cultural and linguistic barriers i) Animosities iii) Mindsets  iv) Existence
k) The desire to sing in the audience is .
i) ugly i) scary iii) Nerve-wrecking iv) innocent and beautiful
I) It is observed that those who have attained partial success, suddenly feel that they are.
1) too good i) Incompetent iii) not learned enough Iv) too successful.
m) ‘these two mindsets’ refer to the mindsets of .
i) Performer and listener ii) a performer and of a student
iii) student and listener iv) student and teacher.

Section — B (WRITING & GRAMMER - 30 MARKYS)

3.

You are Tina/Ashutosh, member of the Eco Club of Modern School, Chandigarh. The school
is celebrating a weeklong festival on ‘Ban the plastic’ to create awareness regarding harms
of plastic. Draft a suitable notice in not more than 50 words. 4x1=4
OR
Your friend worked on an International Science Project competition but unfortunately it
didn’t get selected. Write an e-mail motivating him by boosting his morale and sharing with
him the importance of hard work and dedication in life. Sign yourself as Shiva/Srishti.
(Word limit: 50 words)
A person character is revealed only through his actions. It is particularly important that we
develop good character to be remembered for our fine deeds. You are Rakhi/Ravish, write an
article for the school magazine on the topic ‘GOOD DEEDS REFLECT GOOD
CHARACTER’. Refer to the unit ‘Compassionate Souls’ of My English Reader along with
your own views in not more than 100-120 words 8x1=8
OR
Today children are growing up in a society that is technologically driven and are learning at a
much faster pace but getting a hold of their moral values and helping them understand what
family values used to be is getting tougher. As Aarit/Archita write a speech to be delivered in
the morning assembly on the topic ‘Changing trends in Family and Social values’. (Word
limit 100-120 words)
The following passage has not been edited. There is an error in each line against which a
blank is given. Write the incorrect word and the correction in the space provided. Remember
to underline the word that you have supplied 1x4=4
Incorrect Word ~ Correct Word
a) The highly reputed travel agency.
b) had a vacancy for a courier. The work
¢) involve taking charge of tourists and
d) conduct tours. The applicants must being well educated
The following sentences are not in the correct sequence. Read them carefully and arrange
them in a meaningful sequence. 1x4=4
a) The class should first be divided equally.
b) Each group should perform within the specified time limit.
¢) The students should then know the time allotted for the activity
d) One must plan an activity well in advance.
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7. Read the instructions about the installation of a new water purifier Aqua 1 and complete the
instruction in the passive form. Write the answers in your answer sheet. 4x1=4
e Unscrew the lid of the body
e Remove the inner protective seal and replace it with the filter pad.
e Fit the blue adapter onto the body.
e Screw back the lid.
o Peel off the lower seal before use.
e Hold the tap and push the Aqua 1 up the tap until it is attached securely.
First of all, the lid on the body . The inner protective seal is then
with the filter pad. After that, the blue adapter onto the body and
the lid is screwed back. Then the lower seal . Finally, the tap is held up and Aqua
1 is attached securely to the top.
8. Choose the correct word from the options given to complete the following passage
3x1=3
I (was running/runs/have run) for a bus when |
(hit/hits/hitted) my foot on something on the pavement and | (had
fell/fall/fell) down.
9. Do as directed. 3x1=3
a) We keep our word. (Provide the suitable Modal)
b) What a great car (Punctuate the sentence).
c) Neither Rima nor her friends (is/are) planning to go for the party.
Section — C (LITERATURE — 30 MARKYS)
10.  Attempt any one extract out of the two given below.. 4x1=4
“We sighed with relief and tucked her up well.
Poor Granny! For her, it was like a brief season in hell,
Confined to her bedroom while every breeze
Whispered of summer and dancing leaves.”
a) The family sighed in relief. Why?
b) Mention why it was a brief season in hell for Granny?
c¢) Granny was confined to bedroom. Give reason?
d) Identify the figure of speech used in line 4 in the above stanza.
OR
Some, like the flame of her marriage fire,
Or rich with the hue of her heart’s desire;’
(@)Whom does ‘her’ refer to?
(b) List any two adjectives used by the poet to describe the bangles of the bride.
(c) What colour do you think would appropriately describe ‘heart’s desire’? Why?
(d) The poet has compared the bangles of the Indian bride to her laughter as well as her
tears. Why?

11.  Attempt any one extract out of the two given below.. 4x1=4
Speaker:1 By the way,dear.Have you spoken to Annie yet?
Speaker:2 No, not yet. Give me a chance . | have been busy. But I haven’t forgotten. 1’1l tell

her this evening.

(a) Speaker 1 refers to and Speaker 2 refers to
(b) How was Annie associated with both the speakers?
(c) What did Speaker 2 have to tell Annie about?
(d) Speaker 2 did not speak to Annie immediately. Why?
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OR

‘Swami felt an impulse to run home and beg his father to take back the letter’.

a) Swami wished to run back home. Why?.

b) What was the letter about?

c) Begging his father to take back the letter wouldn’t have helped Swami. Give reason.

d) Mention Swami’s plans regarding the letter?
12.  Answer the following questions in 30-40 words each. (Any Six) 6x2=12

a) How can we say that Mrs. Hill was a kind-hearted, considerate lady? ( A Bad Dream)

b) What should be the chief concern of the whole mankind? What other concerns divert
people’s attention from this? (Couplets)

c) Poet’s childhood days were full of struggle. Explain. (My Mother)

d) The women was critical in nature. How can you say so? (The luncheon)

e) What were the three questions that occurred to the king?(Three Questions)

f) Could Swami deliver the complaint letter to the headmaster after the school? Why/Why
not?(Father’s Help)

g) Give a pen-portrait of the American. (The case of the Sharp-Eyed Jeweller )
13.  Grandparents are always very dear to grandchildren. What all you do to spend quality time

with your grandparents? 4)
OR
How did the Poet’s mother act as a source of inspiration to the poet?
14. Imagine you are Mr. Hill. Your unpleasant conversation with Mr. Briggs and Mr. Winter

awakens your conscience and changes your attitude towards Annie. Write a diary entry expressing
your feelings for her before and after your meeting with the visitors.
6x1=6
OR
Imagine yourself to be the young lady. Write a diary entry relating how the jeweller’s vigilant
assistant foiled your well-made plan to steal the ring.



DAV PUBLIC SCHOOLS, MP ZONE-D
PRE BOARD - 11l EXAMINATION
Session: 2024-25
Class: VIII, Subject: SOCIAL SCIENCE

Maximum Marks: 80 Time Allowed: 3Hrs

General Instructions: Read the following instructions very carefully and strictly follow them:

1.

2
3.

8.

9.

Question Paper contains 37 questions. All questions are compulsory. Question paper comprises Six
sections - A, B, C, D, E and F.

. Section A - Question no. 1 to 20 are MCQs of 1 mark each

Section B-Question No.21 to 24 are of very short answer type questions, carrying 2 marks each.
Answers to each question should not exceed 40 words.

. Section C- Question No. 25 to 29 are short answer type questions, carrying 3 marks each. Answer to

each question should not exceed 60 words.

. Section D-Question No. 30 to 33 is long answer type questions, carrying 5 marks each. Answer to

each question should not exceed 120 words.

. Section E-Question No0.34 to 36 are Case-based questions with three sub questions and are of 4

marks each.

. Section F - Question No 37(A) & (B) are Map based questions, Geography (3 marks) and History (2

marks)

There is no overall choice in the question paper. However, an internal choice has been provided in a
few gquestions. Only one of the choices in such questions have to be attempted.

Attach MAP along with your answer-book.

10. In addition to this, separate instructions are given with each section and question, wherever

necessary.

1

3.

SECTION- A

. Which one of the following is a major difference between a developed and a developing country?

A) Availability of resources  B) Availability of transport ~ C)Availability of water  D)Availability
of advance technology
The ideal rainfall required for the crop of cotton is
A) 25 to 70cm B) 40 to 75 CM C) 50 to 80 CM D) 60 to 100 CM
In the question given below there are two statements marked as Assertion (A) and Reason (R).
Read the statement and choose the correct option:

Assertion (A): The people of a Nation are the real wealth and strength of a Country.
Reason (R) : Population is concentrated in those areas which are rich in natural resources.

Options:
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true and R is not the correct explanation of A.
C. Ais correct but R is Incorrect.
D. Aisincorrect but R is correct.
4. Identify one pair from the following which is correctly matched.
A) Gandhi Smriti - Gujrat
B) Rashtrapati Bhawan - Kolkata
C) Gateway of india - Mumbai
D) Victoria Terminal - New Delhi
5. Productive population belongs to the age group of........
a) Below 15 years b) Above 60 years
c) Age group 15-59 years d) Any age
6. The Ryotwari System was introduced by
a) Lord Cornwallis b) Holt Mackenzie
c¢) Lord Wellesley d) Thomas Munro
7. The Gaddi tribals belong to the state..........
a) Odisha b) Himachal Pradesh
¢) Manipur d) Assam
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8. Identify the event in the given picture and choose the correct option as the answer:

==

A. Sepoy Mutiny 1857.

B. Imprisonment of Bahadur Shah Zafar II.
C. Proclamation Act of 1858.

D. Subsdiary Alliance with Awadh

9. Rani Laxmi Bai belonged to which of the following places.....

a) Jhansi b) Hyderabad
c) Kerala d) Barrackpore
10. Bahadur Shah Zafar was exiled to
a) Rangoon b) Japan
c) Sri Lanka d) Nepal
11. The another name of Harijans given by Gandhiji
a) Traditional People b) People of God
c) Original People d) None of the above

12.Match the column | with Column |l

Column | Column I
1. Shri Narayan Guru I a.Madhya Pradesh
2. B.R. Ambedkar b.Andhra Pradesh
3. Veersalingam c.Tamil Nadu
4. Periyar EV Ramasamy d.Kerala
a)l-c,2-b,3-a,4-d b) 1-b,2-d,3-a,4-c
¢) 1-d,2-a,3-b,4-c d) 1-a,2=d,3-c,4-b
13. Most of the provisions of Indian constitution can be amended by
a) Simple Majority b) Special Majority

¢) Special majority with ratification by the state legislature
d) Simple majority with ratification by the state legislature
14. Who amongst the following wrote the book “My Experiment with truth

a) Jawaharlal Nehru b) Bal Gangadhar Tilak
¢) Mahatma Gandbhi d) Bankim Chandra Chattopadhyay
15. The fundamental right came into existence in 2002 is
a) Right to work b) Right to Equality
c) Bothaandb d) Right to Education
16. Which of the following helpful for Secularism?
a) Wild life Act b) Right to vote
¢) Right to work d) Communal Harmony
17. The Lok Sabha of Indian Parliament is also known as...........
a) Higher house b) Upper house
c) Better house d) Lower house

18 Which of the following is/are correct reason/s for launching the non-cooperation movement ?
1. Injustices done by the British and Punjab
2. Against the Simon Commission
3. Injustices done by the British in Turkey.
4. Partition of Bangal by Lord Courzon

a) 1 & 2 are correct b) 1,2 & 3 are correct c) Both 1 & 3 are correct d) Only 4 is correct
19. The age for the retirement of Judges of Supreme Court is
a) 62 years b) 63 years
c) 65 years d) 64 years
20. Who amongst the following is the ‘Head of the state’ in India?
a) Chief of the defence forces b) Prime Minister
c) President d) Chief Justice of India
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SECTION B

Q NO 21 'Literacy rate of any country is an important indicator of socio- economic development of a

nation.' Support the statement with suitable examples. 2)
Q NO 22 'Discriminatory government policies affect population distribution'. Justify the statement with
suitable examples. 2)
Q NO 23 lllustrate with the help of two examples that the Indian constitution is dynamic. (2)
OR

Explain the response of the government in case any religious group prohibits female education on
the basis of their religion.

Q NO 24 Highlight any three provisions of the right to equality. (2)
SECTION C
Q NO 25. State any three reasons for the declining sex ratio in India. 3)
Q NO.26. Explain any three immediate causes of the revolt of 1857 3)
OR
How did the economic policies of the British adversely affect the Indian economy?
QNO27. Explain the reasons for the introduction of commercial crops in India by the British. 3)
Q NO28. Mention any 3 purposes which the constitution of India serves towards strengthening
democracy. 3)
Q NO.29 ' India is known as the federation with the very strong central government.' Explain with
the help of any two constitutional provisions. 3)
SECTION D
Q.NO 30- Explain the three circumstances under which the president's rule can be imposed in
a state. (5)
Or

Explain any five uses of land resources.
Q NO.31-What is commercial agriculture? Describe any three techniques used in agriculture to

increase the production of crops. (5)
Or
What type of soil, temperature, and rainfall is required for the cultivation of Cotton or Jute?
Q NO 32 Who were moderates? What were their main demands? (5)
Or

“Quit India movement was the last blow to the British rule in India give argument in support of this
statement.
Q NO 33. Explain the concept of Lok Adalat? Why are they called people’s court? (5)
Or
Briefly describe any five powers and function of Supreme Court

SECTION E

Q NO 34. Read the source given below and answer the questions that follow:
There is an urgent need to maintain a balance between population, resource planning and
conservation. Resources should be used judiciously otherwise mankind will have to face dire
consequences. Over the last few decades, there has been a tremendous increase in the concern
for conservation and management of resources as they are rapidly depleting and needs to be
conserved. We must realise that the nature and its resources are not merely ours. They also belong
to the future generation. Thus, it is necessary to use the resources more efficiently and reduces
wastage.

1. Explain the term conservation. (2)
2. What main problem is faced due to the over-utilisation of the resources? Q)
3. 13 Explain any two reasons for the need of resource planning. 2)

Q NO 35. Read the sources given below add answer the questions that follows
The quality and the quantity of people of a country determine the human resources Healthy and well
educated people contribute to their respective societies in positive ways .Mal nourished and illiterate
people on the other hand cannot contribute much on their respective societies. Human resources are
well developed in Japan as people are skilled and technically developed. African nation, in spite of
being rich in resources, are less developed as most of the people are unskilled and illiterate.

1. Why is human being considered as resource? Q)
2. Why the human resource of Japan is better than human resource of South Africa. D
3. Highlight the qualities of human beings that make a country developed. 2)
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Q NO 36. Read the source given below and answer the questions that follow:
The long struggle for freedom transformed into a mass movement and adultimately succeeded in
ushering freedom and self-rule. It was a dream casa come true for the people of India who aspired
for a democratic self- ernment. So, the constitution of India and down the price of du Universal Adult
Franchise according to which all citizens who are 18 or sin more than 18 years of age have the right
to vote.

(1) What was considered as a dream come true for the people of India? Q)
(2)Highlight one advantage of Universal Adult Franchise. Q)
(3) State any two differences between Lok Sabha and Rajya Sabha. 2)
SECTION F
Question no 37(A)
A. Regions of high rainfall )
B. Major wheat producing area (2)
C. Major low rainfall area in Southern Africa. 1)
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37 (B) On the outline map of India locate and label the following:

A. The place associated with Van Guijjars. )
B. Indian National Congress session at this place in 1929. )}
INDIA - POLITICAL AND ADJACENT COUNTRIES.
o &} % o "{_;-:i_:,._‘v-,.\t'.- ar o oo o oo 1000 10
i
:
B
:
ith.. Kms.0 190 380 Kms. ':‘, ] . { H\‘ o]
P:;aonon Lmeo’ICD::alOﬂhanmpmc A ol | w 5 ol R 08° 100 g

*khkhkhkhkkkhkhkhkhkihhkhhkhhkhihiiiiix

Page 4 of 4



